ASSEMBLY INSTRUCTIONS
DESSER BORNEO CHAIR

INCLUDED IN THE BOX:

o 4 x Fixing Bolts (6 x 70mm)
4 x Fixing Bolts (6 x 40mm)
8 x Wooden Cover Plugs |

1 x Allen Key ' f*
2 x Seat Frame Screws — i ,

ASSEMBLY STEPS:

1.Unpack and Identify Parts

Carefully unpack all components and place them on a soft surface.
Ensure all parts and fixings listed above are present before beginning
assembly.

2.Attach Chair Legs

Align the legs with the pre-drilled holes on the base of the chair frame.
Use the 6 x 70mm bolts and the provided Allen key to securely fix each
leg to the frame.

3.Secure Seat Frame

Using the 6 x 40mm bolts, attach the seat frame securely to the base.
Once positioned correctly, insert the 2 seat frame screws to ensure
additional stability.

4 Finish with Wooden Plugs

Insert the 8 wooden cover plugs into the visible bolt holes to complete
the look.

Ensure all fittings are tightened but do not overtighten.

5.Final Check
Once assembled, gently press down on different parts of the chair to
ensure everything is stable.

NEED HELP?
Give us a call on 0161 834 1795 or email infoedesser.co.uk.



mailto:info@desser.co.uk

